 EQ \b(-a+b)\b(-b+a) = EQ  \b(-a+b)\b(a-b) = EQ  -\b(a-b)\b(a-b) = EQ  -\b(a-b)\s\up8(2) = EQ  -\b(a\s\up8(2)-2ba+b\s\up8(2)) 
 EQ \b(m-n)\b(n+m) = EQ  m\s\up8(2)-n\s\up8(2) 
 EQ \b(-c-d)\b(-c+d) = EQ  \b(c+d)\b(c-d) = EQ  c\s\up8(2)-d\s\up8(2) 
 EQ \b(-3y-4)\b(4-3y) = EQ  \b(-3y-4)\b(-3y+4) = EQ  \b(3y+4)\b(3y-4) = EQ  9y\s\up8(2)-16 
 EQ \b(-3y-4mn)\b(4mn-3) = EQ  \b(-4mn-3y)\b(4mn-3) = EQ  -\b(4mn+3y)\b(4mn-3) =

= EQ  -\b(16m\s\up8(2)n\s\up8(2)-12mn+12mny-9y) 
 EQ -4x\b(-3+x)\b(x-3) = EQ  -4x\b(-3+x)\s\up8(2) = EQ  -4x\b(x-3)\s\up8(2) = EQ  -4x\b(x\s\up8(2)-6x+9) = EQ  -4\b(x\s\up8(3)-6x\s\up8(2)+9x) =

= EQ  -\b(4x\s\up8(3)-24x\s\up8(2)+36x) 
